ZnphgnGuyul nmnnuipjudp  Ghnduo
dwpiGh pnhsph munnnipymlp Jujujwo sk hn-
phgnGuwyuwl mnnupyjudip dwpdGh mGhywo
wpwagnipjnilhy:

Qpwlnmud Juptih £ hwdingyty thnpény: +h-
ymp" A U B qlnhyGtpp dhwdwdwlwl uljunid
LG pGyGtp dhuGmyG pwpépmpymbhy (GY.w):
Lpwlyhy dtyhG® B qlnhyhG, hnphgnGulwuG
ninnipjwip hwnnpynid GG npng 3 uyqpluub
wnpwqnpjnil: OppwG £ thnpép YpyGtGp, hu-
GnyyG t, hwwnwyhG qGnhyGhpp Yhwpgwotl dh-
wdwdwlwl (hwnmwyhl hwpdwoh dwylp Jugh
vhwdwiwlwly):

4. 4.
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Gph wlyiwl pGpwypnd Juwwmwpblp
qlinhyGtph  wybGpwppwyhl  nuwllyuwpGhph
owpp’ wyw Juunwlwlp p Gupmyd pipgwo
wwwnytpp: Lwphy Gpumy E, np dwdwlwuwyh
Juwiwjwlwl wywhh Gpym qlnhyG ) dhlulngb
pwpdpmpjudp nhpptipmd G6: LGwmbwpwp, Ju-
ptith £ wlnkg, np B qGnhyhG hwnnpnjwo o, hn-
phaqnGuiwl wpwgmpymbp ny dh Yepw sh wq-
nmy wyn Gniy6 qlinhyh” mnnuahgny pwpddwb
Jypw: Gupotiu ninnudhgny wquw wGiwln
«qnuiwpynid b» hnphgnGuwywl nignyuo bu vkl
wllwfu pwupdnd, nph htimbwGpny B qlinhyn
uljumy £ juumwpt] wihwjwuwpwywth Ynpu-
gho pwnpdniy:



